Does node connect
> 2 properties

FIGURE B.7
ACCESS TYPE SELECTION

— No—» Will access otherwise Yes )

be available

Yes

4 Is node > 6m deep —Yes—p

No

:

Is node > 3m deep —Yes—Pp

l\f

Node = 2 incoming
pipes each serving>z —Yes——p—Pp
10 properties

l\f

Isit>150m to the
nearest Type A or Type
B Access

No

:

Does node serve >3
) Yesp———P
properties

A

Yes—

Yes

No > Isnode> __ No )
2m deep

No access required at
the node

Site-specific
engineered solution

Type 1 Access (3-6m)

Type 2 Access (<3m)

Type 3 Access
(<3m, non-entry)

Type 4 Access
(<2m, non-entry)



